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General Instructions :

Read the following instructions carefully and follow them :
(1) This question paper contains 30 questions. All questions are compulsory.
(it)  Question paper is divided into five sections — Sections A, B, C, D and E.

(iii) Section A — Questions no. 1 to 17 are Multiple Choice Type Questions. Each
question carries 1 mark.

(iv) Section B - Questions no. 18 and 19 are Source-based Questions. Each
question carries 3 marks.

(v)  Section C - Questions no. 20 to 23 are Short Answer Type Questions. Each
question carries 3 marks. Answer to these questions shall be written in
80 to 100 words.

(vi) Section D — Questions no. 24 to 28 are Long Answer Type Questions. Each

question carries 5 marks. Answer to these questions shall be written in
120 to 150 words.

(vii) Section E - Questions no. 29 and 30 are Map-based Questions. Each question
carries 5 marks.

(viit) In addition to this, note that a separate question has been provided for Visually
Impaired candidates in lieu of questions having visual inputs, map etc. Such
questions are to be attempted by Visually Impaired candidates only.

(ix)  There is no overall choice given in the question paper. However, an internal
choice has been provided in a few questions in all sections other than Section A.

SECTION A
Questions no. 1 to 17 are Multiple Choice Type Questions. 17x1=17
1. Read the following factors of population migration in India from rural to

urban areas carefully and choose the correct option of push factors.
I. Unemployment

I1. Job opportunities

III. Economic backwardness

IV. Lack of medical facilities

Options :

(A)  Only I, II and III are correct.

(B)  Only I, IT and IV are correct.

(C)  Only II, IIT and IV are correct.

(D)  Only I, ITI and IV are correct.
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%IT:WC[ :
(A) LIIRIVEDE B) ILIITIVEE
(C) LIIRINads (D) L IIAXIVEe

ITHOT &7 H 3Tafere SIS | Geiferd TEt e T = i |
(A) INTTRTFZEE |
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©) fogawm (D) eI
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(A) L ILIII, IV (B) IIIIL IV,I
(C) IV,I,IILII (D) L IIL IV, II

64/5/12| # 4



“®collegebatch.com

e
2. Read the following statements related to ‘intensive subsistence
agriculture’ carefully and choose the correct option.
L Land holdings are very small under it.
I1. Use of machinery is limited under it.
III. It is practised largely in Central Asia.
IV.  The yield per unit area is high, but per labour productivity is low.
Options :
(A) I, II and IV are correct (B) II, III and IV are correct
(C) I, II and III are correct (D) I, IIT and IV are correct
3. Choose the correct statement related to periodic markets in rural areas.
(A) These are quasi-urban centres.
(B) These markets are held on specific days at different locations.
(C)  Personal and professional services are well-developed.
(D)  All the sellers collect the items from wholesale markets.
4, Choose the correct group of states utilizing their groundwater resource
moderately.
(A)  Uttar Pradesh, Haryana, Rajasthan
(B)  Chhattisgarh, Kerala, Punjab
(C)  Gujarat, Uttar Pradesh, Bihar
(D) Haryana, Himachal Pradesh, Uttarakhand
5. The ports which have strategic importance are called :
(A) Packet Stations (B) Industrial Ports
(C)  Comprehensive Ports (D) Naval Ports
6. Arrange the following states in sequence (highest to lowest) according to
their reserves of iron ore and choose the correct option.
I Jharkhand II. Karnataka
III.  Chhattisgarh IV. Odisha
Options :
A L ILIIL IV (B) ILIILIV,I
©) IV, LI 11 (D) LI IV, II

64/5/12| # 5 P.T.O.



N

10.

“®collegebatch.com

frefeTRad & & -1 ST T T80 T STERT HAT & 2
(A)  HIETHT I feper % =l

(B)  3ATehcis 3T EHIele] & o=

(C) | Shiferehl 3T =T o s

(D) e 3R 37aH o T

TS WETHTT T ST &

(A) AT gitesT e & fag |

(B)  Hewqul Tt Ui ST ST T b S o o |
(C)  TST I USaHT § ST Jeearerat sl e |

(D) Tty Tt St Tttt st SireT |

S-S AT % Fet e i gg= iy |
(A) T, ToREs TR 3% ()

(B)  ©UTEieH, GHT S =g

(C)  Tai o iy, foved i e

(D) ez, a&q (srfm) 37 stfal o i

I 21 e fou T | A AR (A) 3R FWOT (R) & | SHT T bl ST 96U
3R Tt forsrew vt == ifsTe |

fUFYT (A) : FAUST IR it 390 3 oI o e e ® |

FRU(R) . T SATATIRAT hl FA! T 31T WM § AT A H T HLAT @ |
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(©) (AT, AR (R) TEa R |

(D) (AT &, AfohT (R) Tl 2 |
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Which one of the following waterways uses the ‘Panama Canal’ ?

(A)
(B)
(&)
(D)

Between Yokohama and Vancouver
Between Auckland and Honolulu
Between San Francisco and New York

Between London and Aden

The objective of state highways is :

(A)
(B)
(&)
(D)

For inter-state transport operations.
For connecting important sea ports and airports.
To connect state capitals with district headquarters.

To connect the capitals of different states.

Identify the correct set of water-borne diseases.

(A)
(B)
(&)
(D)

Asthma, Headache and Diarrhoea
Hepatitis, Asthma and Blood pressure
Intestinal worms, Headache and Blood pressure

Hepatitis, Diarrhoea and Intestinal worms

Two statements are given below. They are Assertion (A) and Reason (R).

Read both the statements carefully and choose the correct option.

Assertion (A) : International trade is mutually beneficial to nations.

Reason (R): It helps in getting the needed items from other countries.

Options :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not the correct explanation
of (A).

(C) (A)1is correct, but (R) is incorrect.

(D) (A)is incorrect, but (R) is correct.

7 P.T.O.
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(B) T80 o ST T forohTH
(C) et Yaie o foTw aiter
(D) 39 Y T AT ST TATOAT

14. <Y AT fH T TS HT FHR hael ST STASHAT & Tel, I FHehT TUre H HHT
Wt SHHT FROT B |7 39 HYT & HeW H FATIRIT HIN 1 SAHIEF TIGT, 3 aal
forehe w1 == AR |
L. T AU TAT STATShiddT
II. T ol SAEOTAT oI - &Tra
III. &g -3atehdT 3 SIgHac iy
IV.  9ffr ot Scareshar | st

IEETR
(A) FHadL [T (B) Ao I, II3MIVEEE |
(C) FHad I, I AXIVE & | (D) a1, 111 3R IV @ & |
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Which one of the following is the main polluter of Yamuna water in
Delhi ?

(A)  Flood water spreading (B) Dumping of domestic waste
(C)  Use of pesticides (D) Use of fertilizers

Two statements are given below. They are Assertion (A) and Reason (R).
Read both the statements carefully and choose the correct option.

Assertion (A) : Industries based on cheap, bulky and weight-losing
material are located close to the sources of raw materials.

Reason (R): It is followed to reduce the cost of products.
Options :
(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not the correct explanation
of (A).

(C) (A)isincorrect, but (R) is correct.
(D)  (A) is correct, but (R) is incorrect.

Choose an objective of the Namami Gange Programme’ from the
following :

(A)  To monitor industrial effluents
(B)  To develop the network of canals
(C)  To construct dams for water management

(D) To develop ‘Ganga Grams’ in Assam

“The pressure on agricultural land increases not only due to the limited
availability, but also by deterioration of quality of agricultural land.”
In the context of this statement read the following reasons carefully and
choose the correct option.

L Soil erosion and waterlogging.

II. Salinisation and alkalinisation of soil.

III.  Rich land fertility and multiple cropping.

IV. Decline in land productivity.

Options :

(A)  Only I, II and IIT are correct. (B) Only I, IT and IV are correct.
(C)  Only I, III and IV are correct. (D) Only II, IIT and IV are correct.
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AFITREA ToTehT T SATTYE STE IS R T G&T 15 € 17 7% % IR 111y

A farehTa Gerehies (2021)
. 9. IR HTAH T 213, qe (2021)
1. ESNEN] 0-919
2. Aferaent 0-758
3. ﬁ—a@@g 0-962
4. ﬁ:l"'l'lg'{' 0-939
5. Sl 0-764
6. sifegar 0-916
7. ST 0-942
8. forett 0-855
15.  drferser ¥ fou T gon § feafoftad o & fore merdiu o sifesram qar € 2
(A) I IAHH (B) afeqor smfeent
(G (D) Tl
16. Trfafad <=ttt v foshe gerehiss qo & e & 3= 30 7 sFafeerd shifsig i
Te! foshed 1 == i |
I famg I S
M. e IV. SREA
IEETS B
(A) LIV, IL 1 B) ILIV,I,1I
C©) IV, 1L L1 (D) IV, 1L 1,1
17. S GAITT I T = HITST |
(<7) (TETETY)
(A) TR Y
(B) =& TSI
©) foeft R
(D)  Tfce! IfequT STHfEhT
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Study the following table carefully and answer the questions from 15 to 17 :
Human Development Index (2021)

S.No Country’s name HDI Value (2021)
1. Israel 0-919
2. Mexico 0-758
3. Switzerland 0-962
4. Singapore 0-939
5. Cuba 0-764
6. Austria 0-916
7. Germany 0-942
8. Chile 0-855

15. The maximum number of countries given in the table belong to which one
of the following continents ?

(A) North America (B) South America
(C)  Europe (D) Asia

16. Arrange the following countries from low to high order of Human
Development Index value and choose the correct option.

I. Singapore I1. Germany

III. Mexico IV. Israel

Options :

(A HIOLIV,ILI (B) I, Iv, I, 11

C©) IV,ILLII (D) IV,IIL I, I

17. Choose the correctly matched pair.

(Countries) (Continents)
(A)  Austria Europe
(B) Cuba Africa
(C) Chile Asia
(D) Mexico South America

64/5/12| # 11 P.T.O.



@collegebatch.com

EE
o

LCLERC
97 G&IT 18 TS 19 GId-3TMRA I & | 2x3 =6

18. QU ITC AT T SATYeish 3TEAIA HITST 371 3 A< g 78 st 3 I i -

| SRR, 2 ST

(18.1) Fw T Yot 3 2Rer St % T # Ieerg T | .1

(18.2) et 3 o e e e & e ey 5 i oy vt A | 2oL 2

(18.3) 39 LAHTT o ATk AEwe shl ST SIS | 1

qe :  FHETCTRad J¥7 Fact greaTiera GRierTierat & 1o7g Yo7 &1 18 % T W& |
Y- TeramT Y forral i ferrsarety st auie hifsig | 3
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Questions no. 18 and 19 are Source-based Questions.

18.

SECTION B

@collegebatch.com

2x3=6

Study the given map carefully and answer the questions that follow :

O
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(18.1) Mention the names of the terminal stations of the given railway
. 1 1
line. |
2 2
(18.2) Mention the names of the oceans lying in the East and West
directions of this railway line. é +é =1
(18.3) Explain the economic importance of this railway line. 1
Note : The following question is for the Visually Impaired Candidates only
in lieu of Question No. 18.
Describe any three characteristics of Trans-Canadian Railways. 3
64/5/2| # 13 P.T.O.
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19. fUTE 1= St eaYEh fey 3T 36 el fou g Tt & I ST :

3T SEETT BId & ST B T A S T 30T JaTd TEH Ld @ | 37 aft TR
Y Hamd ffiree e B & S Iae % See T 21§ | waree, e, fafe, e
HIT AAIS TS hl SATAETRI FRIAT b HTTTIHRAT © | §7 YAl bl 317 Agiferah
T 37 fopamenes SfRTefor st STTaeaehdl Bidl @ | ik [sharehela dar el § Heiferd
& | ST HaT Y AT U HEUY I & HIh AR Jefireh FRAeRad h
freuTes e sifvren, AR g @ Wi foRivy i wmeieTaredt g & € |
3Tieh forehrer sht AR STareeratl |, QRTE T Ueh ST TIUTd STieh Hared H i
AT AT | T forerfia srefeareen § sgaesh AfHe qdtaeh fhamehamal # TSR 9Td &
HIT STUETRA hH AT H foc 1o et § HRd 8 o |

(19.1) 1S sk Tt STraTt Shl HaT HE Tod L FohdT & ? 1

(19.2) Tecfierep wa qefiorh &eh & e fohelt wah S7a i samean Hife | 1

(19.8) Tefires ud fedieres & o Teier 3 Tl uer SeTetor o1 qui Hifery | 1
LCLERI)

¥ GEAT 20 § 23 TTY-IHIT T E | 4x3=12

20. forelt 3w it SEEAT T AR favd T AU AR Y fohd JehR TTfrd T & 2

ST HIFT | 3

21. (%) WS o TR shi ST shi T I | 3
AT

(@) HHS I % AHadraTat SUTTH shi a hifsry | 3

22,  UIITTIH hl qLA TIHT FT HaT ST & 2 oI dToh oot TI8 hfNTT | 3x1=3
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19. Read the given passage carefully and answer the questions that follow :

There are many professionals who provide their services against payment
of their fee. Thus, all types of services are special skills provided in
exchange of payments. Health, education, law, governance and
recreation, etc., require professional skills. These services require other
theoretical knowledge and practical training. Tertiary activities are
related to the service sector. Manpower is an important component of the
service sector as most of the tertiary activities are performed by skilled
labour, professionally trained experts and consultants. In the initial
stages of economic development, larger proportion of people worked in the
primary sector. In a developed economy, the majority of workers get
employment in tertiary activity and a moderate proportion is employed in
the secondary sector.

(19.1) How can a person avail services of a professional ? 1

(19.2) Explain any one difference between secondary and tertiary
sectors. 1

(19.3) Describe any one example of the relationship between primary
and secondary sectors. 1

SECTION C
Questions no. 20 to 23 are Short Answer Type Questions. 4x3=12

20. How does the population size of a country affect the international trade in

the world ? Explain. 3

21. (a) Examine the concept of naturalisation of humans. 3
OR

(b) Examine the humanistic approach of human geography. 3

22. Why is petroleum known as liquid gold ? Explain by giving three

arguments. 3x1=3

64/5/12| # 15 P.T.O.
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23. Tfafed dferrt 1 emyEes TR HiNg 3 38 Ao 3T T ST 1 I

%TF@'Q:
T — TIH0T Sl It
- T/ANE | TS | %A T GHETR)
Tl shl HeE (&R ) SIS T % JiE (%)
1931 2,072 33,456.0 11.99 19.12
1941 2,250 44,153.3 13.86 31.97
1951 2,843 62,443.7 17.29 41.42
1961 2,365 78,936.6 17.97 26.41
1971 2,590 1,09,114 19.91 38.23
1981 3,378 1,59,463 23.34 46.14
1991 4,689 2,17,611 25.71 36.47
2001 5,161 2,85,355 27.78 31.13
(23.1) 1941 3T T&T ¥ 1991 # TRIATT EFall ! H&AT # T3 Irg 1 Ieci@
HITSTT | 1
(23.2) fore quTeh § TR SEEAT % feRTd § =Had Ifg I A R 2 1
(23.3) TRIGHIUT 3T QTR g T TUM HITSTT | 1
LCLER)
Y G 24 @ 28 A STHIT T7T & | 5x5=25
24. “foava Y SHEEAT 799 ®9 9 fadfid 8 17 9o ot 38 U w1 fagawor K | 5
25. (%) “ursh gult gure &t Sayunen & ufenfyd fifse | v § st gl
GoTeT Sl foheal T forrare Y saren hifs | 1+4=5
arqaT
@) AR ¥ T o aut it H  IeTen afed ot T I | 5
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23. Study the following table carefully and answer the questions that follow :

India - Trends of Urbanisation

Year | Number of | Urban Population % of Total Decennial
Towns/UAs (in Thousands) Population Growth (%)
1931 2,072 33,456.0 11.99 19.12
1941 2,250 44,153.3 13.86 31.97
1951 2,843 62,443.7 17.29 41.42
1961 2,365 78,936.6 17.97 26.41
1971 2,590 1,09,114 19.91 38.23
1981 3,378 1,569,463 23.34 46.14
1991 4,689 2,17,611 25.71 36.47
2001 5,161 2,85,355 217.78 31.13

(23.1) Mention the increase in number of towns/UAs in 1991 in
comparison to 1941. 1

(23.2) In which decade is the minimum increase in the percentage of

urban population recorded ? 1

(23.3) Describe the decennial growth of urbanisation. 1
SECTION D

Questions no. 24 to 28 are Long Answer Type Questions. 5x5=25

24. “The population of the world is unevenly distributed.” Analyse the
statement by giving arguments. 5

25. (a) Define the concept of ‘Common Property Resource’. Explain any

four characteristics of common property resources in India. 1+4=5

OR

(b)  Distinguish between ‘irrigated’ and ‘rainfed agriculture’ in India
with examples. 5

64/5/12| # 17 P.T.O.
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26. (%) dFMhsh G G SUAMTRAT I fohE TohIT FH T G bl g § Hier ag

T | TR & 2 forvetyor i | 5
JAYAAT
(@) WNd § T & F6eid Ty T fageor i | 5
27. (F) “WREM! H URITCH ST AR R IFATIATS " @ FAAH @ AN | 5
YT
@)t sroforawen & e, el Tor e & % ST 8 € 17 59w
Y T T | 5
28. (F) “IRA H TR SEEA & foar § fmrard o St § 17 U 3w afed
39 U T AT HITT | 5
JAYAAT
(@)  “¥Rd Teh ATTS farfererar ol i 2 |7 Sk IaTET0 |led 56 e i Hedish
IS | 5
LG L
I G&IT 29 TF 30 THISH-STEIRT I 8 | 2x5=10

29. fiu U fove & TeHifs WET-AERE (I8 25 W) H, 91q Wiifels d&v & A, B, C,
D, E, F 3R G & &9 # fehd foram T € | FfeiRad STepit oht @8 & foheal
gier <t Ug=H ShItSTT 371 3o Tt A Ik Ty Sl 78 st w forfaw - 5x1=5

TCTETE TR T T &7

T T WS T

foreqa anfors o1 iy 1 O &

RSEKCRIR AR

Tsh AT STeTHnT

Tk qE g T

JR-HETEI1 YA hT Uk S T3

Q" EgaE e

64/5/12| # 18



“®collegebatch.com

26. (a) How does personal communication system enable the user to
establish direct contact with the world of knowledge and

information ? Analyse. 5
OR
(b)  Analyse the changing pattern of imports in India. 5
27. (a) “Rearing of animals in ranches is organized on the scientific basis.”
Examine the statement. 5
OR
(b)  “Mixed economies have public, private and joint sector industries.”
Examine the statement. 5
28. (a) “The distribution of urban population has a wide variation
throughout India.” Evaluate the statement with suitable examples. 5
OR
(b) “India is a land of linguistic diversity.” Evaluate the statement
with suitable examples. 5
SECTION E
Questions no. 29 and 30 are Map-based Questions. 2x5=10

29. On the given political outline map of the world (on page 25), seven
geographical features have been marked as A, B, C, D, E, F and G.
Identify any five with the help of the following information and write

their correct names on the lines drawn near them : 5x1=5
A. An area of nomadic herding

B. A major sea port

C. An area of extensive commercial grain farming

D. A major airport

E. An inland waterway

F. A major airport

G. A terminal station of a trans-continental railway
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: THEfcTRaa T Fac greariera qenierar & 1o7g T G& 29 % € WE |

fwfctfiaa 4 € fobeel aier Je1 % It T 5x1=5
(29.1) STeuft STShIERT # SICTATET URTEIOT &1 T AT fTRAT |

(29.2) aArEgforan o aferor-qaf Wit feura qe @t o & A fafeT |

(29.3)  afequr sTafient o foreqa anforsr TS Y % Ush &t 1 A1 fafiay |

(29.4) Afege! % Y@ A1 U o1 A fAfa |

(29.5) fire o ik STemmt a1 A1 fofey |

(29.6) STUT o YHE SR AR ae o1 A1 frfiaT |

(29.7) UR-GTESRET THT o ufvedt i 3 efifaer w2 &1 am feiflaw |

30. T MU wra % TSI WEr-AmtE (I8 27 W) #, fefaied aa fimies e |
& formel grer sh1 Sk forat gr siferd hifSg 3 3o = forfa 5x1=5

(30.1) <ITIA o Ic4Te § YT T=F

(30.2) UL TSI | Tk dcd IMETAT

(30.3) SAFSHTS HHAT % o™ W Feord Eeit o

(30.4) aferoft sfifewm & ferq AUl siteTse i @M

(30.5) 3TEH T AU AT 0w

(30.6) sfarult BeteTe R HEw@Ul ciie 3T i @M
(30.7) feqoft Trsteer # feur Hewqul dfel ht @
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Note : The following questions are for Visually Impaired Candidates only in lieu of
Question No. 29.

Answer any five questions out of the following : 5x1=5
(29.1) Name the area of nomadic herding in Southern Africa.

(29.2) Name a major sea port located in South-eastern part of
Australia.

(29.3) Name an area of extensive commercial grain farming of South
America.

(29.4) Name a major airport in Mexico.
(29.5) Name the inland waterway of Egypt.
(29.6) Name the major international airport of Japan.

(29.7) Name the terminal station of the western end of Trans-Siberian
Railway.

30. On the given political outline map of India (on page 27), locate and label
any five of the following seven geographical features with appropriate

symbols : 5x1=5
(30.1) The state leading in the production of rice

(30.2) An oil refinery in Uttar Pradesh

(30.3) The sea port situated at the head of Vembanad Kayal

(30.4) Important bauxite mines located in southern Odisha

(30.5) The international airport in Assam

(30.6) Important iron ore mines located in southern Chhattisgarh

(30.7) Important copper mines located in southern Rajasthan
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TE

o IHHIA

o0

W S It GIRETIEra qemieral & 1o7q Y97 G&T 30 % € W e |

fArferfiaa 9 9 foret gier y941 & I ST 5x1=5

(30.1)
(30.2)
(30.3)
(30.4)
(30.5)

(30.6)

(30.7)

#

=TI o Icdqred | AU} T3 k1 A9 farfaw |

39 T 1 A1 fIRae sraf 3 yewr # ae Siemser R 7 |

VTS AT o HET T Teerd SHET I o1 7T fRa |

3G T o1 AW e sret gttt stifes & Fewqul dfedrse i @ R € |
3THH o AU A T b1 A1 fafa |

34 T 1 W fafay et afaolt axdiane § wewyul e ek S
|

3G T o1 A fARaT et afeoft TereeT & wewergut e i @ fRod & |
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Note : The following questions are for Visually Impaired Candidates only in lieu of
Question No. 30.

Answer any five questions out of the following : 5x1=5

(30.1) Name the state leading in the production of rice.

(30.2) Name the place where an oil refinery is located in Uttar Pradesh.

(30.3) Name the sea port situated at the head of Vembanad Kayal.

(30.4) Name the place where important bauxite mines are located in
southern Odisha.

(30.5) Name the international airport in Assam.

(30.6) Name the place where important iron ore mines are located in
southern Chhattisgarh.

(30.7) Name the place where important copper mines are located in

#

southern Rajasthan.
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99 TEAT 29 o foru For question no. 29

WORLD-POLITICAL
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